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Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS and
A Level Economics (9708), and to show how different levels of candidates’ performance (high, middle and
low) relate to the subject’s curriculum and assessment objectives.

In this booklet candidate responses have been chosen to exemplify a range of answers. Each response is
accompanied by a brief commentary explaining the strengths and weaknesses of the answers.

For each question, each response is annotated with a clear explanation of where and why marks were
awarded or omitted. This, in turn, is followed by examiner comments on how the answer could have been
improved. In this way it is possible for you to understand what candidates have done to gain their marks and
what they will have to do to improve their answers. At the end there is a list of common mistakes candidates
made in their answers for each question.

This document provides illustrative examples of candidate work. These help teachers to assess the standard
required to achieve marks, beyond the guidance of the mark scheme. Some question types where the
answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been
omitted.

The questions, mark schemes and pre-release material used here are available to download as a zip file
from Teacher Support as the Example Candidate Responses Files. These files are:

Question Paper 21, June 2016
Question paper 9708 _s16_qp_21.pdf
Mark scheme 9708 _s16_ms_21.pdf

Question Paper 42, June 2016
Question paper 9708 _s16_qp_42.pdf
Mark scheme 9708 _s16_ms_42.pdf

Past papers, Examiner Reports and other teacher support materials are available on Teacher Support at
https://teachers.cie.org.uk
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Introduction

How to use this booklet

Example candidate response - high Examiner comments
'_!___[_i}j The revenue pom Toudrkd O0Tivaly  wowldl be @ The candidate has
writken, i the tarrenr {Rt{:wﬂt _under e trﬁfe”m to both ‘-?-;jhg;e
T T - S rrE T £ revenue wou
_______ _ o__m_mu occount ad m& bGBbu&_ {fDW}_ .*'.[2_‘&‘?.{‘.’.‘:.__ recorded. i.e. in the
WOl be Lﬂ,‘lanreﬂ_ bn nHOW Gord—FTETH " current account, and

/ . . \% imto Ha e-':.ﬂhﬂg ’ &.ﬁﬁd | qu aaccaalad b
Answers by real candidates in 9! 9 r mmd__ (nlD Caminer comment \

exam conditions. These show you | are alongside the
the types of answers for each f d, .
level. = Ma| answers, linked to
) specific part of the
Discuss and analyse the answers — | @] answer. These explain
with your learners in the p 2 o 4 where and why marks
\classroom to improve their skills. Rheat : - were awarded. This
L wdhor! helps you to interpret the
[ﬂ'D e rnment  inyed Fmlnls gy m2w felhno |m Uaﬂh& standard of Cambridge
N . mea caled A Aee sl Hife LY . L
° o exams and helps your
learners to refine their
exam technique.
How the candidate could have improved their answer \ /

(e) This response could have been improved by the candidate explaining more clearly how new technology
would lead to an increase in productivity and efficienc

likely strength of the link between investment and an if This explains how the candidate could have

_ _ improved their answer and helps you to interpret
() This response could have been improved by furthel o s4anqard of Cambridge exams and helps your
awarded all four marks for the discussion but there w

candidate was awarded one of these two marks form| learners to refine exam technique.
discussed, but this evaluation could have been develo
could also have brought in the concept of income elasticity ofdemand in relatmn to changes |r1 income and
decisions to go on holiday.

Common mistakes candidates made in this question

In (a), most candidates referred to where the revenue from tourist arrivals in Fiji would be recorded, but
relatively few went on to state how it would be recorde

This lists the common mistakes candidates made
In (b), most candidates were able to show how the go| in answering each question. This will help your
the price of sugar produced in Fij, afthough a few can| o e v 16 avoid these mistakes at the exam and
to the right, bringing about a rise in price, rather thang o i

give them the best chance of achieving a high
mark.

- J
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Assessment at a glance

For Cambridge International AS and A Level Economics, candidates:

e take Papers 1 and 2 only (for the Cambridge International AS Level qualification)
or

o follow a staged assessment route by taking Papers 1 and 2 (for the Cambridge International AS Level
qualification) in one series, then Papers 3 and 4 (for the Cambridge International A Level qualification) in
a later series

or

o take Papers 1, 2, 3 and 4 in the same examination series, leading to the full Cambridge International
A Level.

All components are externally assessed.

Weighting

Component

AS Level A Level

Paper 1 Multiple Choice 1 hour

30 multiple choice questions based on the AS Level syllabus content 40% 20%
30 marks

Paper 2 Data Response and Essay 1 hour 30 minutes

Section A: one data response question (20 marks) 30% 15%
Section B: one structured essay from a choice of three (20 marks) 30% 15%
Based on the AS Level syllabus content
40 marks

Paper 3 Multiple Choice 1 hour

30 multiple choice questions based on the Additional A Level syllabus content 15%
30 marks

Paper 4 Data Response and Essays 2 hours 15 minutes

Section A: one data response question (20 marks) 10%
Section B: two essays from a choice of six (50 marks) 25%
Based on the additional A Level syllabus content
70 marks

Note: Papers 3 and 4 test the additional syllabus content for A Level, but also require a knowledge and
understanding of the AS Level syllabus content.

Teachers are reminded that the latest syllabus is available on our public website at www.cie.org.uk and
Teacher Support at https://teachers.cie.org.uk
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Paper 2 — Data Response and Essay

Paper 2 — Data Response and Essay

Question 1

Example candidate response — high

Examiner comments

i o

The revenue rom Tounekd Crrivaly  wouldl be

written i the aurenr  gecount  under the

neomg - account ad - mony  woektek Hom toundhe

o

WOICL b2 (ongcloretl  On mMHOW Gre—sTETH )

OF money into thae ewhotmll.et'ﬂd

%urm\f (,oowd be bnvﬁu%l fr_money (nid
o,(,or\bnﬁb‘ b e
b Pre S 0
e
i ¢ A
AR
<l o, Gy
dovatt ndioof
gorerr\mu\r inVed e nl- 1 new teChnoloqy credhng
i Yincency  while produtng gugor  woutd gt
Ho Jupply urve b Hefighl. Couding o reduchod
n Pl . ¥rorv\ 0P 10 D?, ,\d[ more 1y ?b‘émq dupPlied
o & ChoopRr Pl . e
) () The (OnHOWON  grfuqs  in Fhe  vifitle

eXpOrt  earning( were — more ol e prue

for duqar 1here pecreafedl clug o 4+ho Qovernmes

WeHREAE th now teChnoloqu Fhtf In il moOnt

thot more (ugar (¢ beimg Exported ol 1+ i

now Chooper For foreiGbry.  Fur Hhormore ,  Ha

ntreJe in dupply ue o Hie deered rpvedtnont |

in_new technoloqy redutect prty . Thy reduc hod,

inprilef, Codedy™more > e expoirey {ugqed ke

otk He prid eladnCety of domoundl fof

oty g elafht of a dmalk Chowmbe o prics

ety to & 0l Changl in fho qUonhry

demondlal , oy~ vifible="export eacningl Cretd o)

o The candidate refers to
where the revenue
would be recorded, i.e.
in the current account,
and to how it would be
recorded, i.e. as an
inflow, so both marks
are awarded.

Mark for (a) = 2/2

9 The candidate has
drawn a clear and
accurately labelled
diagram which shows
the supply curve
shifting to the right,
leading to a reduction
in price from P to P;.
Both marks are
awarded.

Mark for (b) = 2/2

9 The candidate earns all
three marks for
explaining the concept
of price elasticity of
demand. They state
that the PED would be
elastic and refer to the
fact that there would be
an increase in export
earnings.

Mark for (c) = 3/3
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Paper 2 — Data Response and Essay

Example candidate response — high, continued

Examiner comments

from qug Qs
_ 2

Cinflochiongry meadur@d  remagnecl ¢ lbd uel

L becaude even though qqqreqor@

cemOnd (00 (M0eQS (hG cdue P +hd’incredde tn

not oxportd  qnol oW mphon ol mved Fronk .

Aqgreqae qupply wef (IO  Theredding ad the

H‘é&.{chvo, CMOLU*L! mereaded oy’ o the

i‘;\VQJfoQ_nI' N nQW T

nology, de-efgrogare

O The candidate has
drawn a diagram which

7
Ori@
ove

//H,_VU
—O

-—
I

Reall

co? g

He elidgram above e pre

mTFuJ W deen in

(ovel decreafed ad Hore w & dhfpt m boH,

agqgreqode JupPly  oma demne
v (o

©

increaged tnveltmenr meouy HaOLE Hirmd (ue mvefhrg

pa MOre  Ha »r\ . fOrm_In Oraer  tor 1he firm

to qwrate,\ﬁronw Jueply dide. copottty i

Hoo~ (mount of PPy Had (¢ beirg produted. oy

Fhe produten - There fore, (nerecd et

Cowld. _aaress (upply dide copolrty CongfFrauntd,
bt J

vestrant

o He veltment fro—exeoviple  1n Hae COJR Of

nii_iveling tm  new Fechnoldgy  wowtel

adcliafy H 04 new FRCANDIOGY nereafos the

prettreh v capoary o Produ ol reyourtey

clearly shows an
increase in both
aggregate demand and
aggregate supply.
They explain that,
owing to the increase
in both of these,
inflationary pressures
remained subdued.
Full marks are
awarded for this
answer.

Mark for (d) = 3/3

wre being kredl more  ethiciently . Henge,
J
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Paper 2 — Data Response and Essay

Example candidate response — high, continued

Examiner comments

leating o produc bvity . Thereppre, inved Huoale

(h MOTAWery Otk Wow techrology  woutel

addredd (apply dide polrty ConFFTaunFy (nthg

fyJi_economy , ol 1 b Hhe. mpwi—q YO progiudy.

wom(>L m}:)eade cdue . the pro&u!‘,hni—u

fmci L Qf\t}\t{ brought . e

(t)

Vigiror aurfivald $rom Awdrralioe s+ 4o kg4

nove merepded  geor -onyecs, The—eptt wiile

- oecreaded  imYopand’.  Ties cowd be oo

fo_many Hyngd T The NGOG proma Aud rratic

C,butu,éé o p He Foadbe—owll }_acr*of.ft\Q

preferente o He peopla . (£ mony peopl estont

G0 —on—Yi— prefer p Qo 1o H(I from

Auftrolia, Then o,rfNCtU Wi InCreade oy

02 mOuncl r»,qo 1) H[l has  nerepdect . On Hio

oHer hand, (f  the Jopomeye octo not hove

prefren®@ » Q0 fo Hll Over other plaley , Hoy,

orn volf +r0mu/l00an WU cletread @ . (4 Haofo thht

olomantl fremc—e for b from the people .

OANCLHTON (tlly ; o Hho ChOunge in ourtvalr 407

oty Counted (owtel be e t» He (albme

o fthe peo Pl prom bobh ountfley + 0d due

o He horeade  jn economec g rowha (n Fqc

Hee pocple have o 0cowrt For He hgh Prie

in O QUnteY 0 income doed Pl% Sy T
by post - if nnwrraua»\ peopls! hghet

moorvuu fhen fb@q—eefee—be—&bf.o_ Hiere willbe

cemon  ror Hem 1o vid it Fili o Hoy widbe
g \

6 The candidate refers to
the link between new
technology and an
increase in efficiency
and productivity, but
does not really explain
how this would
happen. Similarly,
there is no real attempt
to evaluate the
strength of the link
between investment
and an increase in
capacity. The answer
is awarded two out of a
possible four marks.

Mark for (e) = 2/4

Cambridge International AS and A Level Economics 9708
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Paper 2 — Data Response and Essay

Example candidate response — high, continued Examiner comments

ObEL 10 g HoreL (E . FicrtharmOre ;,  Hor MOJ{l'q\‘vd\ G The candidate refers to

propensiry fo Londume  hay increadect o mored| several POfSSiE["e ot
- o economic factors tha
e Heir wontd cpunt be dahidhied Ok *""m" cowt would help to explain
wont o 0o o f1yi fDr¥acehon. On +1& oHaar hard, the changes in visitor
_ G coJe hkia do.?omu where  intpme Loul be toy | numbers cor_ning to Fiji
B thou _wouwlont  demopel, @ holcdowy 1O Ff)‘ : Sromé—\ustre;}lm and
cUUH\%\J{ hove Othor  ngedy ecnds— Wont! Hal changes in
e OF 0. G her jmportOn(@, o Hem 0 Hay preferences, income,
______ wouldiatt cbim&nd O tipP v Fn Mrn.ror\é economic growth and
A, .
Qrrivold  £ro m [0P0UN  wourel be low . prlcellevelg. The
! @ : candidate is awarded
— four marks for the
mﬂ"efore, H’\.Q 04«&{&9&( n anm( (l“'IVQU o F'fl discussion and one
From audFrollicc Gnel Jopon. oure depe nXont further mark for an
on_He demosbl h yvigif FA[i from Heir own attempt to offer some
populochon _onfl_HQ facrond  Here fore Atfechhg ﬁ;f;‘;;gﬂ 'an\',fet',g?'
Ho domand duCh &f income onll preterente , il the evaluation needed
cletermue 7 00 1R f o a faM i vWlbo, to be developed more
OO - fully to earn the second

evaluation mark.
Mark for (f) = 5/6

Total marks awarded
=17 out of 20

How the candidate could have improved their answer

(e) This candidate could have improved their response by explaining more clearly how new technology
would lead to an increase in productivity and efficiency and by offering some evaluation on the likely strength
of the link between investment and an increase in capacity.

(f) The candidate was awarded all four marks for their discussion of this question, but there were also two
marks available for evaluation. The candidate was awarded one of these marks for attempting to evaluate
the factors discussed, but this evaluation could have been developed more fully. For example, they could
also have brought in the concept of income elasticity of demand in relation to changes in income and
decisions to go on holiday.

Marks awarded: (a) = 2/2, (b) = 2/2, (c) = 3/3, (d) = 3/3, (e) = 2/4, (f) = 5/6.

Total marks awarded = 17 out of 20
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Paper 2 — Data Response and Essay

Example candidate response — middle Examiner comments

Yo l

o The candidate earns
one mark for stating

MJL__J/:L____W_._' that the revenue from

k Hmm;,k \ﬁt ,m,mk . ,,m,,,)— a6 tourist arrivals would
! - = o) g ki k__ 5 be recorded in the
current account, but
a W—“W dmmlh,_mm e o . the second mark could
. i not be awarded as it is
b)) R QmL kL , : | not made clear that this
. '™ i V \/‘m - e T would be a credit item.

Mark for (a) = 1/2

\ - ; S V y .
NS 2. 00— @ The candidate earns

both marks for a

T P— _/f -—)&_ ; : diagram which clearly
- f \ — s S shows the supply curve
it A i LN L : 2 shifting to the right and
A s - : a consequent reduction
G & GZMH;J pmm“\“\' .o , in price from P to P.

Mark for (b) = 2/2

1¢)

e PAST PAPERS
INSIDE

Cambridge International AS and A Level Economics 9708 11



Paper 2 — Data Response and Essay

12

Example candidate response — middle, continued

Examiner comments

Cadad e TED o S
] Dl T P 4

: {A A Pﬂﬂlujl

O

\)reklunlii CM N/ __aa_uui__“

ok

AM%V Ju\s jjAQMUﬂ Y J;}kQ:Mtyw

Mk

FIEE T Gy amxh___m_m_ke

Uk

)
W A PR N

An A O UMWY

vﬁ/(]:'&&\);ﬁ A ABMAASAL FEITT AT a;,)o
' ,“ iy )

o___C\ruwk_}\_ .u;mul : {‘Luk JS > umm,lb Gm,m \j P(

A gl o AR .
‘ ST W :

e The candidate earns
one mark for explaining
that PED refers to the
relationship between a
change in demand for
a product and a
change in its price.
Unfortunately, the
candidate writes about
PED being both
inelastic and elastic
without making it clear
which is correct.

Mark for (c) = 1/3

9 The candidate refers to
an increase in both
aggregate demand and
aggregate supply, and
explains how this has
helped to subdue
inflationary pressures.
All three marks are
awarded for this
response.

Mark for (d) = 3/3
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Paper 2 — Data Response and Essay

Example candidate response — middle, continued

Examiner comments

.K r)'.ku\ Jllmlﬂl FL/Ml uluk

‘

Ny _..wa.ﬂl_\«ﬁ.

'\ A Au\x.. nL,-

\/{o\m»« \MAJ:w
b ki

W—mfw—

: k HF/ 05\1
eyl Rl

bl

A\

%_3%_LW_MLWWM‘

&\rxm s ;Muhm

rL. Jﬁ_._s(}m_ cUAJﬂJW

%——Jﬂww—.—m |

e

._AU 2

6 The candidate refers to
the link between
investment and supply-
side capacity, but the
explanation of this link
could have been
developed more fully.
There could also have
been an attempt to
evaluate the strength
of the link. The answer
is therefore given two
of the four possible
marks.

Mark for (e) = 2/4

6 The candidate refers to
some possible
economic factors, such
as changes in income,
exchange rates and
transport costs, but
there needed to be a
clearer focus on these
factors rather than on
trade between the
countries. There is no
real attempt at
evaluation, so two of
the six available marks
are awarded.

Mark for (f) = 2/6

o X
\@mm _@wezw /‘ﬂ‘m(\ﬂm' U & v —7 /7,5 %Y
redy) EJL ﬁ,ugy\ ¥
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Paper 2 — Data Response and Essay

Example candidate response — middle, continued Examiner comments

Total marks awarded
=11 out of 20

How the candidate could have improved their answer

(a) The candidate was awarded one mark for referring to the fact that the revenue from tourist arrivals would
be recorded in the country’s ‘current account’, but the second mark was not awarded because the candidate
did not refer to the fact that this was a ‘credit’ item.

(c) The candidate was only awarded one of the three marks for stating that price elasticity of demand refers
to a change in quantity demanded relative to a change in its price. To gain the other two marks, the
candidate needed to make it clear that PED in this situation would be elastic, instead of providing a confused
answer that did not make it clear whether the answer was elastic or inelastic. The candidate also needed to
state that there would be a rise in expenditure.

(e) The candidate was awarded two out of four marks here. To gain the additional two marks, they needed to
give a clearer explanation of the link between investment and an increase in capacity, along with an
evaluation of the strength of that link.

(f) The candidate was awarded two out of six marks here, as their answer needed to have a clearer focus on
visitors from Japan and Australia, rather than on trade between these countries and Fiji. There were also two
marks available for an evaluation of the factors explaining the changes in visitor arrivals from Australia and
Japan.

Marks awarded: (a) = 1/2, (b) = 2/2, (c) = 1/3, (d) = 3/3, (e) = 2/4, (f) = 2/6.

Total marks awarded = 11 out of 20

e PAST PAPERS
INS]DE
ation hub

14 Cambridge International AS and A Level Economics 9708



Paper 2 — Data Response and Essay

Example candidate response —

low

Examiner comments

RORMAL oA OMISE axrivaue  tn i woould_ ke ecardec

. _CXfenk  aceout ia B{LS - bdaquace of poyonends

oS WWe  Waole A eRYVICT  oUAG TAMEEOLL  bslAGuACe -

0 The candidate earns
one mark for stating
that the revenue from
tourist arrivals would

Ay 3

be recorded in the

current account, but

the second mark could

not be awarded

-

because there is no
indication that this
would be a credit item.

Mark for (a) = 1/2

9 The candidate gains

ey 2
) ALV e

both marks for clearly
showing a shift of the

supply curve to the
right and a reduction in

\_L
2

price from Pqy to P4.

Tae inoethoient o W oirrnment inoreoied supply |

Mark for (b) = 2/2

oond__tedanced e piw  wom  fo to P

e pielasdoy o eugur avoud ke wiasively |

eAASKiC, aS o GA__pAce _dOls Yo o el ot

e The candidate does
not gain any marks

SACINGE
0

PROROAONCAL__dAcunGp demarded. Tae vistole
QPO _odunings  QAOW0 ek people el denrond_sugar

W udakity
V V)

i‘:\v{CQ .

here, as the answer is
given as ‘inelastic’
rather than elastic and

despiie e Olaunge  Tia

the concept of PED is

not clearly explained.

lofloron e genercd ol ORsicent rise T she_prce |
el o) gpede: KGRI Desurel  tenouined  swoled

s e economy e Angir oot duijier@ly qrowm it |

Mark for (c) = 0/3

oW\ 0 CONNALS wvere

CAIO IV -
U0

Cambridge International AS and A Level Economics 9708

PAST PAPERS
INSIDE

ation hub

=/

15



Paper 2 — Data Response and Essay

16

Example candidate response

— low, continued

Examiner comments

i AN - /M 2
" A
N\ // \/‘//
14 i il 4
O AR v
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/ :/ ‘ -’\ADB
t L [ |l 1 - > QR
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g A0 ok godk.

WMNEIVWRNA  (ouadh__acloess suppud ~ sicke___oconshoumas_Tin e

{l__ecocomy) oo monepditused todeRige newd
Washuckure  and  dacedde e mxlmoihd O} —aun.

2000 Tals_\ould @ done oy 90 ulisehGn o
neWD_ oD

%wm_&souxaﬁ_\mz&_&j;q_?mm'%_ ‘

anpeiofuly:  Tae  Tnaprosenets of —producivity iouid_onty
WO T WAL Gee . WNYOURINIME. T\ AWV jactog el |

WL aloun_ g t‘)vmucﬁ\(\h\.l‘ o take place euds ae fudicie

QOf—proacur \ChCAA

A}

mmm“-_gugpx@y\\:@___u;__im__w_cm@. I U o A——

hare wene  vreowe_oisirorsfrom_ Audiowia o Kl af 4.6 le |

inoneaee - TC _wouj— Vo Ren. RCCIR_of dun_TCIOW®.

Tais weauns peode e alol o sfend Was O ooney |

WA d.is‘:osum_i\occmz__m_*m'_mshwm_e«mm&-_'

e AuChCA_ ol

W\o_)(\) WONR_ 4k oA ¥ag L Qxpengel SudA_|

a5 tox- K docrecue Ta_ Jitor quaivels_oma owoun

UM WVouR oo
mwugm__Mmcm_..Mmthd_cm

DAMURARMNCRS 05
Ad(RIONE___oredS of  ounst Qaces  oter waon Bji. |

@sed__y m:n%g.,_m_mwr.__

0 The candidate gains
one mark for the
consideration of a shift
in the AS curve to the
right, but there is no
consideration of AD.

Mark for (d) = 1/3

6 The candidate earns
two marks for stating
that new infrastructure
and new technology
contribute to an
increase in capacity,
but the explanation
needed to be
developed more fully
and there needed to be
some evaluation of the
strength of the link.

Mark for (e) = 2/4

@ The candidate earns
two marks for the
discussion of increases
in disposable income
and changes in
preferences, but the
answer is rather limited
and needed to be
developed more fully.
There is no attempt to
offer any evaluation of
the factors.

Mark for (f) = 2/6

Total marks awarded
= 8 out of 20
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Paper 2 — Data Response and Essay
How the candidate could have improved their answer

(a) The candidate was awarded one of the two marks for stating that the revenue from tourist arrivals would
be recorded in the ‘current account’, but there was no reference to the fact that it would be recorded as a
‘credit’ item.

(c) The candidate was not awarded any marks here because they incorrectly stated that PED would be
‘inelastic’, rather than giving the correct answer of ‘elastic’. The candidate would have been awarded further
marks if they had explained the concept of price elasticity of demand and that where PED is elastic, this
would lead to a rise in expenditure.

(d) The candidate was awarded one mark for showing that there would be a shift to the right of aggregate
supply. Further marks could have been awarded if the candidate had explained that there would also be an
increase in aggregate demand and that the increase in both AD and AS would lead to inflationary pressures
remaining subdued.

(e) The candidate was awarded two marks, but they could have been awarded further marks if they had
explained more clearly the link between new infrastructure, new technology and the increase in capacity, and
if they had evaluated the likely strength of that link.

(f) The candidate was awarded two marks for discussing the effects of changes in Australian disposable
incomes and changes in Japanese preferences, but this was a rather limited response that needed to be
developed more fully. There were many more factors that could have been included, and there were two
marks available for evaluation, rather than just discussion, of those factors.

Marks awarded: (a) = 1/2, (b) = 2/2, (c) = 0/3, (d) = 1/3, (e) = 2/4, (f) = 2/6.

Total marks awarded = 8 out of 20

Common mistakes candidates made in this question

(a) Most candidates referred to where the revenue from tourist arrivals in Fiji would be recorded, but
relatively few went on to state how it would be recorded in Fiji’'s balance of payments, i.e. as a credit item.

(b) Most candidates were able to show how the government investment referred to in the article affected the
price of sugar produced in Fiji, although a few candidates shifted the supply curve to the left, rather than to
the right, bringing about a rise in price, rather than a fall.

(c) Some candidates did not seem to clearly understand the concept of price elasticity of demand and some
thought that the PED would be inelastic rather than elastic.

(d) Despite the reference to both aggregate demand and aggregate supply in the question, many candidates
referred to one or the other, rather than both.

(e) A number of candidates did not develop their answers fully enough, especially by explaining exactly how
an increase in investment could address supply-side capacity constraints in the Fiji economy, and few
candidates offered any evaluation of the likely strength of this link.

(f) Some candidates wrote in general about Japanese and Australian visitors, but thought there was an
increase or decrease in both, rather than an increase in visitors from Australia and a decrease in visitors

from Japan. Although there was some good discussion of the economic factors behind the changes,
relatively few candidates offered an evaluation of these.
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Paper 2 — Data Response and Essay

18

Question 2

Example candidate response — high

Examiner comments
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o The candidate clearly

explains that
equilibrium refers to a
situation where there is
no tendency to change
either price or quantity.

The candidate includes
an appropriate diagram
to support their
explanation of the term
‘equilibrium price and
quantity’. Four marks
are awarded for
knowledge and
understanding of this
term.
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Paper 2 — Data Response and Essay

Example candidate response — high, continued Examiner comments

\\ e 2 : ©-| | © The candidate includes

(\76 \l/ a diagram which
: \ L/\ clearly shows the
AT — % X \ situation when there is
. / ' \ \ a decrease in the
B B yan T N demand for a product,
e £ = with the demand curve
6%/ ~ ' \ e~ D shifting to the left and
| o 1 A - price falling from Pe to
@) @O /ﬁjﬂm ‘\‘é“\ P1
= . ST

o L8 0 _W / ’a‘&cﬁ&) LA %h&i& %_d%aﬂd___ 0 The candidate provides
. (]%% (=3 ﬂ_\g,( _/.*_ a clear explanation of

(A (P pc}bu_xrt&h___ what happens when

there is a decrease in
Pt 6¢J§7 s ' gy ARG demand, making it
B ‘—@TLCQ)) e e mm (peh)"@frc"wfl . clear where the new
IR I | CLMMH(% oz/(.?zsv dw&s)r% ((WDM_CQQ_[’U@ equilibrium position
Tae__ros: ‘eq ol yatm MIP“CQ—M"/ Fectrafy 19 would be established.
0 eahudy (Bhed ot =g 12 (_amel Oy Four marks are
awarded for application
'\%@dﬂ@% to the context of the
question.

Mark for (a) = 8/8
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Paper 2 — Data Response and Essay

Example candidate response — high, continued

Examiner comments
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6 The candidate makes it
clear what is meant by
a maximum price,
stressing that this will
be below the market
equilibrium price.

The candidate includes
an appropriate diagram
that clearly shows the
maximum price below
equilibrium.
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Paper 2 — Data Response and Essay

Example candidate response — high, continued Examiner comments
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Paper 2 — Data Response and Essay

Example candidate response — high, continued

Examiner comments
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Paper 2 — Data Response and Essay

Example candidate response — high, continued

Examiner comments
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@ The candidate makes a
good attempt at some
evaluation, gaining a
mark of 8/8 for analysis
and 3/4 for evaluation.

Mark for (b) = 11/12

Total marks awarded
=19 out of 20
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Paper 2 — Data Response and Essay
How the candidate could have improved their answer
In part (a), the candidate was awarded all eight marks. They demonstrated clear knowledge and
understanding of ‘equilibrium price and quantity’ and were able to apply this knowledge by showing the
process through which equilibrium is established when there is a decrease in demand.
In part (b), the candidate was given a mark of 11 out of 12, receiving a full eight marks for analysis of the
impact of a maximum price for necessities and three out of four marks for evaluating the likely success of
this. The answer could have been improved if the candidate had developed their evaluation a little more fully,

for example in relation to possible shortages, the potential rise of black markets and the effects on
producers.

Marks awarded: (a) = 8/8, (b) = 11/12.

Total marks awarded = 19 out of 20
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Paper 2 — Data Response and Essay

Example candidate response — middle

Examiner comments

Secion - B,

bt wouced QX o good o eRuNICR, Winewe e

dunaund e o nmdum ond_ 19 a(mmu ReA,

(1% V2. J - 57s S I TVI VUV r_x\zganna__.qz\ququ’rU __s_ﬂ

eotauomsnet:  Tajs waeone tndd Vatld amountop ¢ |

m_aq,quAm_quuAntg__e_p\Ax_md_qum.t_

8)

pdce.  This  S¢  guudhox tlughotted fa e ol
diu%tdm X i -
R So
N | /
N\ o o
XN #
N I V¢ )
2N
N\
Z S
) N
| NDo
] oY)
O Qo (4 O
Aew.mm&v%__ _tm_wmm__uno&_;upp\@;o}
o __qood.__ oM mwm&h.c, W__ecbmu\anm

dumncuindd. ot @\1;_0\9\;00! ok 3ok price woouid e
Qo- Tale (s cwled an equililonium polnd _de_ e demcurd |

ARl tne epRly QRS paridoue. |

0 The candidate
explains that an
equilibrium position is
where demand and
supply meet.

The candidate
includes a diagram to
support their
explanation and also
considers this in
relation to the price of
Po. Two marks are
awarded for
knowledge and
understanding of the
term, as there is no
reference to ‘no
tendency to change’.
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Paper 2 — Data Response and Essay

26

Example candidate response — middle, continued

Examiner comments
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e The candidate makes
good use of the
diagram to explain
what happens when
there is a decrease in
demand, with the
demand curve shifting
to the left and the
decrease in price from
P, to P4 clearly shown.

Q The candidate
provides a reasonable
explanation of the
establishment of a
new equilibrium,
although it could have
been developed more
fully. Two marks are
awarded for
application.

Mark for (a) = 4/8
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Paper 2 — Data Response and Essay

Example candidate response — middle, continued

Examiner comments
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Paper 2 — Data Response and Essay

28

Example candidate response — middle, continued

Examiner comments

jzs__dﬁm__&mm_expm&ahéu_q;_mqa_pme__mm_ﬂ&_

(PO G- ﬁ_

MOWRARX , (e RHTAQ 2ig Waximim rice, Aog
puiamiens  evoukd  tie  Tiko  @msicerocia- e |

e PUX AN b A __wmaxivauwm _ pnie ok |
waw_ﬂm_meweuaa,_mm_-mg_m___
mwg%&s__w__m_qmmg_qw_ws&ugq“hw_
Vo Wecoms e \ud of  awpply —oloker dhad _more

wm_q_pmdudv_‘g_wcmﬁe_@de e meowe. o |

o__eim__euppled bt __a._ wiger puce.

Moot _op e wusineeee andd  eupply necegiher owel |
lgo__ ke Yol wottoutedh axd  HopedCA€ § dne
LKA W?ﬁudwmm__w*q_pm@_m___
poocuaxs  oue ot QIow X (URC nodr  oXpenee,
W@ busineeses  woy 08 eaud down  tfaoreqe

e aRe eammaﬁw_u\d_mb_qwemm&u;mﬂm_

&_fs:vmmm__o@.&mﬂa_\o._mee_mmum_&o_&w_.
cost0 PYOUACATAA___decien @S-

vaue_ o, um_\gm_mgxm_w__uee_o,{_w Josicuas |

e U2t mx:el\/\x adso. eed o v

dé‘ﬁi%__\og\_?m_oid&g%@db_&f_im__
|\o-. e Wu_clla__taena fo procace Moege
goooks— ok o louRy  pAe 0 acCOmnedotz de |
(OCNRX ___ cclnSuumese ond__provide € necesiter

ot o \CURY PACR..

e eooivaguos__PAQ__ oy 1R Guceeid G fo e

At o pAce  Aaa g wfglnax fhon e cott g
GUAChON _adh  sHUl oo tAe  proous o, ereugia

PROX_ 10 cOANNUL  plroduichion: Boubues, 4o Likelined

o HALS oAl R and Weseine . pouerament
mm__,.v_\cxm__ ool TAdo. . otagd waeklaoda_ o)

mm_ng o8 A DA 107210 SIS VYe o V. I

0 The candidate
considers how the
introduction of a
maximum price for
necessities could be
of benefit to poorer
consumers.

6 The candidate makes
an attempt to offer
some evaluation here,
but it really needed to
be developed more
fully. The response is
awarded a mark of 6/8
for analysis and 1/4
for evaluation

Mark for (b) = 7/12

Total marks awarded
=11 out of 20
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Paper 2 — Data Response and Essay
How the candidate could have improved their answer
The candidate was awarded four marks in part (a). They could have expanded their answer here, for
example in relation to the idea that an equilibrium position is where there is ‘no tendency to change’. The
candidate gained just two marks for their application of the concept to a situation where there was a
decrease in demand, largely because their answer was not developed sufficiently. They could have
improved their answer by considering more fully how a new equilibrium would have been established as a
result of the decrease in demand, making more effective use of the diagram included in the answer.
In part (b), the candidate was awarded six marks for their analysis of the impact of a maximum price for
necessities, but needed to include better evaluation of the potential success of this strategy (e.g. possible
shortages, the effects on producers) to receive more than one of the four marks available.
Marks awarded: (a) = 4/8, (b) = 7/12.

Total marks awarded = 11 out of 20
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Paper 2 — Data Response and Essay

Example candidate response — low Examiner comments

/ 0 - : o The candidate has
: included a diagram to
show how Pe and Qe
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Mark for (a) = 4/8
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Paper 2 — Data Response and Essay

Example candidate response —

low, continued

Examiner comments

L~

9 The candidate
attempts to explain
what is meant by a
maximum price and
has included a diagram
to support their
analysis.
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Paper 2 — Data Response and Essay

Example candidate response — low, continued Examiner comments

pal 6 The candidate

N/
0 \/A / considers subsidies as

e ]\ / : a possible alternative
approach.

3/:' /\N \ : 0 The candidate

1 KA ;
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(jw\l\f\afl\’ Lo Ahi ﬂ\” AU ’% the concept of
)( i M % { & 3; L) opportumty cost, but
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i ,(ﬁ W hay, e mwf)\ in__ ofoubag ‘ considering the
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a0 o nadide wpadd e it an ||  markels The answer
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apponlucity it . 0 { H”V\' , LW[!E P ] and 1/4 for evaluation.
bovtnmadd  hiny  pn sundh " on® Jhinak  Lih Mark for (b) = 5/12

i L : : 1 Total marks awarded
i We 0 { | =9 out of 20

How the candidate could have improved their answer

In part (a), the candidate was awarded just two marks for knowledge and understanding of ‘equilibrium price
and quantity’, as their explanation was rather brief. The candidate earned two marks for the application of
their answer to the particular context of the question. There was some consideration of the effect of a shift of
the demand curve to the left, but there needed to be a better link to the new equilibrium position that would
be established in the market.

In part (b), the candidate could have developed their analysis of the effects of introducing a maximum price
more fully, e.g. in relation to the possible existence of shortages, in order to gain more than four marks. They
were awarded only one mark for evaluation, largely for their attempt to bring in the idea of opportunity cost.
There was clearly more that the candidate could have written in relation to whether a maximum price would
ever be successful, such as considering the potential rise of black markets.

Marks awarded: (a) = 4/8, (b) = 5/12.

Total marks awarded = 9 out of 20

Common mistakes candidates made in this question

In part (a), many candidates failed to demonstrate that they understood the term ‘equilibrium price and
quantity’ as representing a situation where there was no tendency to change, i.e. the prevailing situation was
at rest.

In part (b), many candidates drew a useful diagram to support their answer, but unfortunately many of these
placed the maximum price above, rather than below, the equilibrium. Many candidates wrote about the
potential advantages of the introduction of a maximum price for necessities, but there was much less
willingness to analyse the possible disadvantages of such a scheme. Relatively few candidates offered any

meaningful evaluation of whether such a scheme could ever be successful.
Q PAST PAPERS
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Paper 2 — Data Response and Essay

Question 3

Example candidate response — high

Examiner comments
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o The candidate starts by
stating that the
functions of enterprise
include organising and
risk taking.

9 The candidate gives a
useful outline of the
functions of enterprise
in a modern economy
here, although more
could have been
written on the risk-
taking function. Three
marks are awarded for
knowledge and
understanding.

9 The candidate
recognises that a rise
in the demand for a
good would
consequently lead to a
rise in price.
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Paper 2 — Data Response and Essay

Example candidate response — high, continued Examiner comments

o o The candidate has
’ ' o 0 : produced a good
A i ; answer in terms of how

. A,d««am dcmmwf a8 . lmdmhg o E

enterprise responds to

RS ?v.cf. urtkes] (<ol do o ZN""*Q/ ViR ‘ an increase in price, so
I s O’UO\,(—}\'M demsy e ! gains all four marks for
Wen dereuned 1 r Clagy e, hoverre | application.

et wmaed bt aclvigbie, 4o Veowcf; rov;d’—
ke, dtimenck 3¢

Mark for (a) = 7/8
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Paper 2 — Data Response and Essay

Example candidate response — high, continued

Examiner comments

%

b
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s ot Lontwlled: ovw\th ,awu.ﬁ/ ol owdnbte. Po
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LG Ov\b\t(» onSOO\i ) nen it ON\"‘—‘L‘E G\V\J LOhen |
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[t oAt - winded  and - T vewe
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:'lo.u DN, pevson eI e

Confumphion wWhrch meant  that b,
[LER nfumirhon ‘

e The candidate focuses
on the provision of
public goods and merit
goods.

C‘Y‘Y\Wh 67\1\/'0\}1}!0 l-e,_ +€:rr\/ g—f\/m,wfr for .C‘on{wwg.
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Paper 2 — Data Response and Essay

Example candidate response — high, continued Examiner comments
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| of - quc/U Mv;c\&j [ou‘t‘b\«b Py‘vq{_ﬁ %‘ﬁ\%
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Itaclgede, B HOJrfJS "'V“NY?*SV\‘ 'R:mcj} Shaf- = a useful summary of
et - (6 J the key features of
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iR : | =16 out of 20

Mark for (b) = 9/12
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Paper 2 — Data Response and Essay
How the candidate could have improved their answer

In part (a), the candidate was awarded seven of the available eight marks. Three marks were awarded for
knowledge and understanding of the functions of enterprise in a modern economy; to gain the fourth mark,
the candidate needed to go into a little more detail on the risk-taking aspect of enterprise. The candidate was
awarded all four marks for application to the context of the question.

In part (b), the candidate was awarded a mark of nine out of twelve. Seven of the eight marks were for the
analysis of how private, merit, demerit and public goods were provided, and, while this was a good mark, the
candidate could have been awarded the additional mark by developing their analysis of the different kinds of
goods more fully, including more examples to illustrate the differences between them. In terms of evaluation,
the candidate was awarded two of the possible four marks, but their answer would have been improved by
further evaluation, such as in relation to why it is the case that some goods are provided by government and
some by private enterprise in a mixed economy.

Marks awarded: (a) = 7/8, (b) = 9/12.

Total marks awarded = 16 out of 20
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Paper 2 — Data Response and Essay

38

Example candidate response — middle

Examiner comments
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o The candidate refers to
the organising and risk-
taking functions of
enterprise.

9 The candidate earns
two marks for
knowledge and
understanding here.
However, they could
have explained the two
main functions of
enterprise more fully.

9 The candidate
attempts to explain
how enterprise
responds to a rise in
the demand for a good,
although there is no
explicit reference to a
rise in price. Two
marks are awarded for
application.

Mark for (a) = 4/8

9 The candidate provides
a brief explanation of
what is meant by a
mixed economy.

6 The candidate outlines
some of the key
features of private
goods here.
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Paper 2 — Data Response and Essay

Example candidate response — middle, continued Examiner comments
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Total marks awarded
=11 out of 20
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Paper 2 — Data Response and Essay
How the candidate could have improved their answer

In part (a), the candidate was awarded four of the available eight marks. To improve their mark for
knowledge and understanding, the candidate needed to develop their answer more fully on both the risk-
taking and the organisation aspects. Two marks were awarded for application to the context of the question,
and further marks could have been awarded if the candidate had included more about a rise in the demand
for a good. Although candidates were not explicitly required to include a diagram in their answer, the use of a
diagram might have helped the candidate to write more convincingly on the rise in price brought about by the
increase in demand.

In part (b), the candidate was awarded six marks for their analysis of the provision of different goods by the
public and private sectors in a mixed economy, but this could have been developed further, for example by
explaining what is meant by the terms ‘non-excludable’ and ‘non-rivalry’. The candidate was awarded just
one of the four possible evaluation marks and this was therefore a key area where the answer could have
been improved. For example, a comparison could have been made of the likely effectiveness of public sector
and private sector provision.

Marks awarded: (a) = 4/8, (b) = 7/12.

Total marks awarded = 11 out of 20
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Paper 2 — Data Response and Essay

Example candidate response — low Examiner comments
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Paper 2 — Data Response and Essay

Example candidate response — low, continued Examiner comments
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Paper 2 — Data Response and Essay

Example candidate response — low, continued

Examiner comments
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0 The candidate
summarises the key
features of a mixed
economy, but again
fails to focus on
particular types of
goods.

9 There is some
consideration of public
goods, but there is no
reference to merit or
demerit goods.

9 The candidate offers a
conclusion here, but
there is no clear
evaluation in relation to
why some goods and
services are provided
by private enterprise
and others by public
enterprise. Analysis
earns a mark of 2/8
and evaluation a mark
of 0/4.

Mark for (b) = 2/12

Total marks awarded
= 8 out of 20
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Paper 2 — Data Response and Essay
How the candidate could have improved their answer

In part (a), the candidate was awarded six of the eight marks. Three knowledge and understanding marks
were allocated, and this aspect of the answer could have been developed by considering the risk-taking
aspect of enterprise. The candidate was awarded three marks for application to the context of the question,
but could have improved by focusing more on the consequent increase in price as a result of an increase in
demand. A diagram was included, but the candidate could have made more effective use of it to support
their answer.

In part (b), the candidate focused more on the features and characteristics of a mixed economy, rather than
on the actual question, which was concerned with an analysis of why different types of goods are provided
by the public and private sectors in a mixed economy. Unfortunately, this was an example of a candidate not
answering the question asked. They could have improved by focusing more on the different types of goods,
such as private, public, merit and demerit goods, and analysing why some of these are better provided
through the private sector and others through the public sector. No marks were awarded for evaluation, so
the answer could have been improved by considering the effectiveness of provision through the public and
private sectors.

Marks awarded: (a) = 6/8, (b) = 2/12.

Total marks awarded = 8 out of 20

Common mistakes candidates made in this question

In part (a), a common weakness was to focus almost exclusively on either the risk-taking function of
enterprise or the organising function of enterprise, with relatively few candidates offering a balanced answer
which considered both roles of enterprise in a modern economy. Although some candidates included a
diagram to support their answers in relation to the response of enterprise to a rise in the demand for a good,
many didn’t and this made it more difficult for them to provide a logical and coherent answer.

In part (b), there was some confusion over the different types of goods, so that some candidates offered
what appeared to be a prepared answer on the relative merits of the private and public sectors or of free

market and planned economies. Relatively few candidates provided any meaningful evaluation in terms of
the effectiveness of public sector and private sector provision.
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Paper 2 — Data Response and Essay

Question 4

Example candidate response — high

Examiner comments
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o The candidate begins
by explaining the
meaning of ‘the terms
of trade’, but
unfortunately this is in
relation to the trading
of exports and imports.
There is no reference
at the beginning to the
fact that the terms of
trade are concerned
with the relative prices
of exports and imports,
so no marks could be
awarded for knowledge
and understanding.
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46

Example candidate response — high, continued

Examiner comments
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Paper 2 — Data Response and Essay

Example candidate response — high, continued Examiner comments
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Example candidate response — high, continued

Examiner comments
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e The candidate
considers a number of
possible positive
effects of a favourable
movement in an
economy’s terms of
trade.
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Example candidate response — high, continued Examiner comments
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How the candidate could have improved their answer

In part (a), the candidate was awarded four of the available eight marks. Unfortunately, no marks were
awarded for knowledge and understanding because at no point did the candidate refer to the fact that the
terms of trade are concerned with relative prices, stating instead that it is simply an expression of a country’s
exports and imports. To improve the answer, the candidate needed to be much clearer on the meaning of
‘the terms of trade’ in relation to changes in the relative prices of exports and imports. However, when the
candidate attempted to provide application to the question, the answer improved and became clearly linked
to prices, thereby earning the four marks.

In part (b), the candidate was awarded a mark of eight out of the available twelve marks. There was a good
attempt at analysis, but to improve, the candidate needed to develop their analysis of both the positive and
negative effects a little more fully, expanding on some points, such as those related to elasticity. The
candidate was awarded two marks for evaluation and could have improved this mark by bringing in such
ideas as the Marshall-Lerner condition.
Marks awarded: (a) = 4/8, (b) = 8/12.
Total marks awarded = 12 out of 20
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50

Example candidate response — middle

Examiner comments
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o The candidate
attempts to explain the
meaning of ‘the terms
of trade’ in the first
couple of lines, and
there is a clear
reference to export
prices and import
prices, but this needed
to be developed more
fully. One mark was
given for knowledge
and understanding.

The candidate
demonstrates a
reasonable level of
application to the
context of the question
here, referring to
changes in exchange
rates and to possible
protectionist policies.
Three marks are
earned for application.

Mark for (a) = 4/8
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Paper 2 — Data Response and Essay

Example candidate response — middle, continued Examiner comments
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Example candidate response — middle, continued Examiner comments
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considers some of the
potential negative
effects of a favourable
change in an
economy’s terms of
trade.
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condition. Analysis is
awarded a mark of 5/8
and evaluation a mark
of 1/4.

Mark for (b) = 6/12

Total marks awarded
=10 out of 20

dfensterst ol )ivwne, @ : :

How the candidate could have improved their answer

In part (a), the candidate was awarded four of the eight marks. One mark was awarded for knowledge and
understanding of ‘the terms of trade’ and the candidate could have improved their answer by developing the
explanation much more fully. Application was given a mark of three out of four and this was a better effort,
although it could have been improved by developing some of the points referred to more fully.

In part (b), the candidate was awarded five out of a possible eight marks for analysis. Their answer could
have been improved with better balance, as it contained much more about the negative than the positive
effects. Only one mark was awarded for evaluation, as the candidate could have included more
consideration of the potential positive and negative effects, for example by referring to the Marshall-Lerner
condition.

Marks awarded: (a) = 4/8, (b) = 6/12.

Total marks awarded = 10 out of 20
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Example candidate response — low

Examiner comments
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o The candidate gives a

brief explanation of
what is meant by ‘the
terms of trade’, but it is
rather limited and really
needed to be
developed more fully.
One mark is therefore
awarded for knowledge
and understanding.

The candidate explains
a number of factors
that might cause a
favourable movement
in an economy’s terms
of trade, including
changes in exchange
rates and inflation
rates. Two marks are
awarded for application
in terms of the context
of the question.

Mark for (a) = 3/8
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54

Example candidate response — low, continued

Examiner comments
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9 The candidate
discusses a number of
possible positive
effects of a favourable
change in an
economy’s terms of
trade.

O The candidate
discusses a number of
possible negative
effects of a favourable
change in an
economy’s terms of
trade.
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Paper 2 — Data Response and Essay

Example candidate response — low, continued Examiner comments
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v Marshall-Lerner
condition, but this
could have been
expanded upon. A
mark of 4/8 is awarded
for analysis and a mark
of 1/4 for evaluation.

Mark for (b) = 5/12

Total mark awarded
= 8 out of 20

How the candidate could have improved their answer

In part (a), the candidate was awarded three of the eight marks. One mark was given for knowledge and
understanding. The candidate could have improved by developing their explanation of what is meant by an
economy’s terms of trade, as only the first few lines focused on this and it was not always clear whether the
term refers to exports and imports or the relative prices of exports and imports. Two out of four marks were
given for application to the context of the question. Additional marks could have been awarded if this section
had been developed more fully, as much of it was in the form of assertions or statements rather than
explanations.

In part (b), the candidate was awarded five out of the twelve marks. Four out of eight marks were given for
analysis and this could have been improved if the candidate had developed their points about both the
positive and negative effects. One mark out of four was given for evaluation and this was largely for
reference to the Marshall-Lerner condition. However, the candidate simply referred to Marshall-Lerner and
needed to consider this more fully to improve their answer.

Marks awarded: (a) = 3/8, (b) = 5/12.

Total marks awarded = 8 out of 20

Common mistakes candidates made in this question

In part (a), a common weakness was to explain the concept of ‘the terms of trade’ in relation to the volume of
exports and imports and not to the relative prices of exports and imports. Some candidates thought that ‘the
terms of trade’ referred to terms and conditions of trade, i.e. the trading arrangements between countries,
making no reference to the relative prices of exports or imports at all.

In part (b), a common weakness was to focus on either the possible positive effects or the possible negative
effects of a favourable change in the terms of trade, but not both. Relatively few candidates offered very
much evaluation, despite the word ‘overall’ appearing in the question. There were some vague references to
elasticity and a few candidates referred to the Marshall-Lerner condition, but unfortunately this concept did
not seem to be fully understood by many candidates.
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